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FIRST HALF
{ Inorganic Chemistry )
( Marks : 32)

1. w5 a3 A Sfer : 1x3=3

Select the correct answer :

(@) Zsi WNRI @b +RGT Pofe 3Re Seom
A1 TR XA
Positron emission of fZ Si will give the
" element

@) ZHsi
@ p
(i) 7 Al
(iv) Mg
(b) WERITTE FRAm R et
w1 RER IR Seom R Qswdr z°7

On reducing ethylethanoate

aluminum hydride, th by lithium
yari e, (-] C

formed will be empound

(i) CH3;CH,

(i) CH3CH,OH
(iii) CH;COOH
(i) CH3COCH,
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(0 mmﬁﬂmmmm
[ ETh:

Minamata disease was caused by
poisoning of which metal?

() cd
(i) Pb
(iii) Cu
(iv) Hg

o, oo FiNl AN BeR F . 2x3-6

~ Answer the following questions :

(@ S @ O CTo ORGP
TR “RAIR eoRe 8T TR |

Show that half-life period of a radioactive
element is independent of the amount
of the radioactive element.

(b) FTATS NI IR T @1 ret o

Write a note on the use of hypo in
photography.
(¢ SRS CHRAPRET oo 2

What is biochemical effect of arsenic?
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3. (a) 9T (b)I T=F IR : 7
Answer either (a) or (b) :
(@ (@) iR et o @ R FPra &
@2 WA RN {OArI iR S :
W e R Refy w41 2+3=5
frm =R
15 RIS $9 =39:96238 a.m.u. -
2’571 =4 =1.007825 a.m.u.
A% ©3-=1- 008665 a.m.u.
What do- you mean by packing
fraction and binding energy?
Calculate - packing fraction and
binding energy of argon atom fg Ar.
Given that
isotopic mass of argon
=39-96238 a.m.u.
mass of proton =1-007825 amu.
mass of neutron =1-008665 a.m.u,

() SRR W B oS w2

Describe one method of separation
of isotopes.

(b) () FeRmTe & RS o= o4'bwe weefve
AR FEHFT fmer eme @R
SR (PR, ST 4T | 3
Discuss how nuclear  stability is

influenced by the relative number

of neutrons and protons in the
nucleus.
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(i) Y G R (R e o) : 2x2=4
Write short notes on (any two) :
(1) R =
Nuclear fusion
(2) cosfEm
- Radioactive tracer
3) FhRm coufpre

Artificial radioactivity

4. (a) Wﬁmcﬁmmamméﬁ
e 9ol AR o (R ol qbt) : 2%x2=5

Give one method of preparation and one
use of each of the following (any two) :

() =R ReRe
Nessler’s reagent
(i) 3R
White lead
(i) iR R FXERe
Lithium aluminium hydride
(iv) ©'RAW FAFHARGRE
*  Sodium cobaltinitrite
(b) =7 fian RiFcEs o T (R e o) -
1x2=2

Complete the following reactions
(any two) :

(i) Na28203 +H20+BI‘2 —_—)
(i) NaBH4 +H,SO4; ——
(i) FeSO,4 +KCN (excess) ——
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5. R i bt o T sRa 3x3=9

Answer any three questions :

(a) o5 R Niw B Ty w1 N @
T3 o1 Rafdr scaen 40 3

Mention about the source of lead as

pollutant. Discuss the poisoning effect
oflead. '

() BRI 22 T 9B R vmer 3

What is hemoglobin? How does it
transport oxygen?

(c) CTaRT AfeFars =T $RFT T wcems
1 . 3
Discuss the role of calcium in biological
process.

(d) tsRe dfrme woe fim O IR Gy
¥ 1x3=3
Mention the function of the following
metals in biological system :

) f& y
Zinc
(i) ¥'IEH
Cobalt
(i) ¥ FRTEA:
Molybdenum
P7/287 ’ . {Continued )
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SECOND HALF‘
( Physical Chemistry ). -
( Marks : 32)
6. ww Behr A e - 1x3=3

Select the correct answer :

(@) S IIS T M D XA
The use of a catalyst helps in mcreasmg
the

() TR R afdcast
rate of forward reaction
(i) RefioR Ridmme s
rate of backward reactlon

(i) R o ReRrog® earor Rfdrm ezt

rate of both forward and backward
reactions

(iv) Rigamere «meq smeRee AR
. relative amount of products
(b) AsyS;¥ FIWOH TR II AW wowH
wyel-RFAB SR T3

For As,S; colloid, the jon having highest
coagulating power is

(i PO%” (i) SO3~
(iti) A3t (iv) Na*
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(c) <= Bomm W-RAE oy @R fFm Rye

FreFAl 7'

For one component system, at triple
point the number of degrees of freedom
is

@ O

@i 1

(i) 2

(iv) 3

UNIT—I
7. R @I @bt e T IR 5
Answer any one question :
(a) =R wm B2 ReoR wwER Rz sieam
e IR BT &l 3 w4 1+4=5

(b)

p7/287

What is transport number? Describe
Hittorf’s method for the determination
of transport number of silver ion.

() TF RIS I QA ? AR e
RfE ~fRafer 271 R R T =4 1

' 1+1%=2"%
What _is equivalent conductance?

Explain why specific conductance
decreases with dilution.
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(i) HCl, NaCl 9I¥ CICH,COONa3 &S
TS FERE RS T 426, 126
¥ 90 ohm lem- g'eq" EYc|
Y 9™ =Sy TS R
*RafRer Rfg T 2V

The equivalent conductance at
infinite dilution of HCl, NaCl and
CICH,COONa are 426, 126 and
90 ohm'lcm‘lg eq'l respectively.
Find the equivalent conductance of
chloroacetic acid at infinite dilution.

UNIT—II

8. R @ gt e T IRA - 3x2=6
" Answer any two questions :

(@) IFA SR IR IR @I W pH
. @ons R IR AR, 9 = 3

Describe how the pH of a solution can
be determined by using a quinhydrone
electrode.

(b) oS ful PEE Ry R st w4 3

Calculate the e.m.f. of the cell of the
following :

Zn |Zn?* (0-001 M)| |Ag*(0-1 M)| Ag
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m | . _. | ) -
Epyjng =0 80VIFE, ;o2 =-0-76V
Given
E;g/A + =0-80V and EZn/an+ =-0-76V

(€ ==e il FREARS &S @a Ridmiar
forn 1x3=3
Write the cell reactions of the following
cells :

(i) Fel)|Fe2* (ag)| ICu?* (ag) | Culy)
i) Alg|AI% aq)| |Ag* (@q) | Agld)
(iii) Zn(g)|Zn2* aq)| ICu?* (aq) | Cu(y)

UNIT—III
9. R ol oI e e R : 2x2=4
Answer any two questions :

(@) quwﬂm«mmWM|
Distinguish between absorpuon and

adsorption.

(b) G WF PR RN I QI ?
AR fo |
What are homogeneous and
heterogeneous catalysis? Give

examples.
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(c) IRCAE e FIF CACE 7 @Y TR
FeIAE ARFIND! 71

What is adsorption isotherm? Write
down the Freundlich adsorption
_isotherm equation.

UNIT—IV

10. (a) 9AT )3T IRA|: 4
Answer either (a) or (b) :

(@) 2 R B | o o e o S
<R SamA F40 1 ' 1+3=4

State phase rule. Draw and discuss the
phase diagram of sulphur.

® (0 v il RRAPER o) oF Bee
R, foran : 2

Write the number of phases
and components of the following -
reactions :

(1) Na(g)+0,(g) = 2NOfg)
(2) CaCOgz(s) = CaOfs) +CO,(g)
(i) fom Ry R TR o fon 2

What is triple point? Write its
significance.
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UNIT—V
11. R Qo P eom Sey whRar . 244x2=5
Answer any two questions :

(a) CRORFCARR S oty o R e vy 1

Define cataphoresis and electroosmosis.

(b) ERIGA OF TR F'oCT NYFPTZ iy |

Write the differences between lyophobic
and lyophilic colloids.

(€) CrPEH I QUA? 9B TUEPE W
el :

What is peptization? Explain with one
example.

o UNIT—VI
12. -(a) CTRIG-RET T Soroime 47 | 3
Derive Lambert-Beer law.
o w4t /Or |
LT AF FHF T AS TR Bt |

Distinguish between fluorescence and
phosphorescence.

(b) 8000 A SRotrs-RFR #°5x1 GB s s
T 2

Calculate the energy of a photon
corresponding to the wavelength 8000 A.

* %k %
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